Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1201

Name of the Student : AMBETHVALAVEN S

Father Name: SURESH **Mother Name: HINDU**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	000	000	F
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	000	000	F
3	ENVIRONMENTAL STUDIES	Th.	2	000	000	F
4	UNDERSTANDING INDIA	Th.	2	5.00	10.00	С
5	SPOKEN ENGLISH (SEC01)	Th.	3	4.00	12.00	Р
6	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
7	TAMIL- I (AEC01)	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1202 Name of the Student : BARATH S

Father Name: SENTHIL KUMAR Mother Name: UMARANI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	000	000	F
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	000	000	F
3	ENVIRONMENTAL STUDIES	Th.	2	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	SPOKEN ENGLISH (SEC01)	Th.	3	000	000	F
6	BASIC BOTANY (MLD01)	Th.	3	000	000	F
7	TAMIL- I (AEC01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1203 Name of the Student : DHANARAJ N

Father Name: NAGARAJ **Mother Name: DHANALAKSHMI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	000	000	F
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	000	000	F
3	ENVIRONMENTAL STUDIES	Th.	2	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	SPOKEN ENGLISH (SEC01)	Th.	3	000	000	F
6	BASIC BOTANY (MLD01)	Th.	3	000	000	F
7	TAMIL- I (AEC01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: BHAVANI



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1204

Name of the Student : GOPINATH B Father Name: BALASUBRAMANIYAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	000	000	F
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	000	000	F
3	ENVIRONMENTAL STUDIES	Th.	2	000	000	АВ
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	SPOKEN ENGLISH (SEC01)	Th.	3	000	000	АВ
6	BASIC BOTANY (MLD01)	Th.	3	000	000	F
7	TAMIL- I (AEC01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1205 Name of the Student : ISWARIA M

Father Name: MOHAN **Mother Name: VIJAYLAKSHMI**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	000	000	F
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	000	000	F
3	ENVIRONMENTAL STUDIES	Th.	2	000	000	АВ
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	SPOKEN ENGLISH (SEC01)	Th.	3	000	000	АВ
6	BASIC BOTANY (MLD01)	Th.	3	000	000	F
7	TAMIL- I (AEC01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1206 Name of the Student : KAVIARASI A

Father Name: ARUL RAJ **Mother Name: RENUKA**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	4.00	16.00	Р
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	5.00	20.00	С
3	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
4	UNDERSTANDING INDIA	Th.	2	4.00	8.00	Р
5	SPOKEN ENGLISH (SEC01)	Th.	3	000	000	F
6	BASIC BOTANY (MLD01)	Th.	3	7.00	21.00	B+
7	TAMIL- I (AEC01)	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: REKA



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1207 Name of the Student : MAKADEV N

Father Name: NANDACOUMARAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	6.00	24.00	В
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	6.00	24.00	В
3	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
4	UNDERSTANDING INDIA	Th.	2	5.00	10.00	С
5	SPOKEN ENGLISH (SEC01)	Th.	3	8.00	24.00	A
6	BASIC BOTANY (MLD01)	Th.	3	7.00	21.00	B+
7	TAMIL- I (AEC01)	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: SANTHOSHI



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1208

Name of the Student : MANGAL KUMAR S

Father Name: SANJAY KUMAR

						ı
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	000	000	F
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	000	000	F
3	ENVIRONMENTAL STUDIES	Th.	2	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	SPOKEN ENGLISH (SEC01)	Th.	3	5.00	15.00	С
6	BASIC BOTANY (MLD01)	Th.	3	000	000	F
7	TAMIL- I (AEC01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1209

Name of the Student : PRABAKARAN P

Father Name: PRABU **Mother Name: MANJULA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	000	000	F
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	000	000	F
3	ENVIRONMENTAL STUDIES	Th.	2	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	SPOKEN ENGLISH (SEC01)	Th.	3	000	000	F
6	BASIC BOTANY (MLD01)	Th.	3	000	000	F
7	TAMIL- I (AEC01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1210

Name of the Student : PRIYADHARSAN N

Father Name: NAGARAJAN Mother Name: JAYAPRIYA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	000	000	F
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	000	000	F
3	ENVIRONMENTAL STUDIES	Th.	2	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	SPOKEN ENGLISH (SEC01)	Th.	3	000	000	АВ
6	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
7	TAMIL- I (AEC01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1211

Name of the Student: RISHIKUMARAN S

Father Name: SELVARAJ

Mother Name: BERNARD SHARLATHA MARY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	000	000	F
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	6.00	24.00	В
3	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
4	UNDERSTANDING INDIA	Th.	2	5.00	10.00	С
5	SPOKEN ENGLISH (SEC01)	Th.	3	7.00	21.00	B+
6	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В
7	TAMIL- I (AEC01)	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1212

Name of the Student : STEEPEN RAJ C

Father Name: CHARLES Mother Name: REJINA MARY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	4.00	16.00	Р
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	5.00	20.00	С
3	ENVIRONMENTAL STUDIES	Th.	2	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	SPOKEN ENGLISH (SEC01)	Th.	3	000	000	F
6	BASIC BOTANY (MLD01)	Th.	3	000	000	F
7	TAMIL- I (AEC01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.A. ENGLISH JANUARY 2025 Examinations

Reg. No.: 24EN1213 Name of the Student : VIMALNATH A

Father Name: ABEL **Mother Name: JAMELA MARY**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH LITERATURE- I	Th.	4	000	000	F
2	COMMUNICATIVE ENGLISH (MID01)	Th.	4	000	000	F
3	ENVIRONMENTAL STUDIES	Th.	2	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	SPOKEN ENGLISH (SEC01)	Th.	3	000	000	АВ
6	BASIC BOTANY (MLD01)	Th.	3	000	000	F
7	TAMIL- I (AEC01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.